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£ A . A2(3H) - MEAIY - HES 0] &M J| &M Hus2

N[N 1,176,256 1,191,835 A15,579
£ 13,213 13,213 0
Al 1,163,043 1,178,622 A15,579
A= &8 738,835 783,114 A44,279
£ 13,213 13,213 0
Al 725,622 769,901 N44,279
Kt AI2=2l OHE A 2= 321,311 395,579 NT4,268
XAl DNIHS=E X 143,980 140,090 3,890
101 QI 24H] 48,820 44,930 3,890
04 JIZtRI2Z2AEES 48,820 44,930 3,890

O £ SEN oA U SEN LLSLA
& HAH EXQIRA(AIMEZR HEBHI) 3,890 0 3,890
o Jl=23g 32,8802 * 1H x 52 x 183 2,960 0 2,960
o =i 32,8802 * 1% » 18Y 592 0 592

o AIZIEEZ4UEE)

3,552,000 * 9.34/100 332 0 332
o LOIR)IQAEH 91,560 * 6.55/100 6 0 6
A E I T AL 156,881 235,039 NT78,158
101 Q44| 26,308 52,553 N26,245
04 JIZHI2Z2XSES 26,308 52,553 N26,245
O NEFEHELTA AEIEAL 0122 26,308 52,553 N26,245
o Jl=23 ZE 20,004,000 20,004 40,007 220,003
o =X¢ ZE 4,001,000 4,001 8,002 24,001
o AMIBEZ2RY2 2,303 4,544 N2,241
- AHEE 2 ZH 2,243,0002 2,243 4,485 N2,242
- Lomjeussa ZE 60,000 60 59 1
201 Ler2%H| 121,323 173,236 151,913
01 AFR22|Hl 121,323 173,236 151,913
O 2Bt2H] 114,723 166,636 A51,913

o JHEFEDIA S8 40 2 2tE T
ZH O AR 2] 6,800 10,200 A3,400
- 21 ZE 4,000,000 4,000 6,000 A2,000
- dANY S -H-=5 ZHE 2,800,000 2,800 4,200 A1,400

o NEZEIIHIANETH 22 Z2H A2
Z FloaE2] 4,520 8,240 N3,720
- E Y ZE 2,480,000 2,480 4,960 A2,480
- c ¥ ZE 1,240,000 1,240 2,480 21,240

o HI|E NEFE AHIIA HESE2=[0
ArE 2] Z& 89,153,000 89, 153 119,064 A29,911

o $AI2 NEFE MHIIA S22 (0
AHE 2] 23X 2,541,0002 2,541 7,260 A4,719

o NEZFE SANE BEE42(HII=2, %+
AZ)[0lA=2] Z & 363,000 363 2,541 A2,178
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CHRl: XIErMI2=9 OHR A st= (B2
£ A . A2(3H) - MEAIY - HES 0] &M Iy A Hus2
o JNYEFE O|9NE BELEEB(HII2, £
AE) [0l AR 2] 23 605,000 605 4,840 4,235
o D|Z2A ZSFE ZAAS S22 AHE
2] & 750,000 750 4,500 23,750
KgtHl E2 2 NYAE BE5 176,868 161,889 14,979
IS 7,000 7,000 0
Al 169,868 154,889 14,979
XEtH E28s 235 38,507 36,328 2,179
201 Ler2%H| 37,328 36,328 1,000
01 AFR22|Hl 32,720 31,720 1,000
O 2Bt2H] 27,240 26,240 1,000
o KIZHAl S OHH TV, 2Ol ZD2[0 A
=2t 14,000 20,000 26,000
— THAHAL, XS XA Z& 14,000,000 14,000 20,000 26,000
o 201148 X2AY HEN OE =22 ME
(NHE=RTWEHEED) 3,500 0 3,500
- =y 1002 * 20,0000H 2,000 0 2,000
- &g 1502 * 10,0000H 1,500 0 1,500
o XAl SLAbIA M0l TE S22 A
HAMEZTWEBEZ) 3,500 0 3,500
- TEE 10024 * 20,0000H 2,000 0 2,000
- ls™ 1502 = 10,0000H 1,500 0 1,500
308 XHXIEHSOIA 1,179 0 1,179
se32 1,179 0 1,179
O XAl 2 MHIA HS 2 XEXISHH 2
S2(AIBEZXHEENMS) 1,179,000 * 14! 1,179 0 1,179
8 22| 29 138,361 125,561 12,800
£ 7,000 7,000 0
Al 131,361 118,561 12,800
5,300 0 5,300
5,300 0 5,300
A DY REBA ZAS(AMEATHE
5,300 0 5,300
<4 800,0009 * 1JHA 800 0 800
2 500,0002 * 1IHA 500 0 500
X 24 400,000 * 10HA 400 0 400
Z 22 600,0002 * 1HA 600 0 600
S 2= 400,0008 * 1JHA 400 0 400
Z 24 300,000 *« 10HA 300 0 300
(S2s) =22 600,0002 * 1JHA 600 0 600
o COAE(8HE) 2 £ 400,0008 * 2J4A 800 0 800
o COE(SHSE) 2 2 300,0008 * 3MA 900 0 900
SH| 27,500 20,000 7,500
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ol NH 22 o NSHE I3 R
SA - FH2 . (SH) - MRAY - BES Ofl & o4 Jgo HRZ
01 MY S SH S 27,500 20,000 7,500
O HSY2RE AR (2H) DAY (AHEX
WECEEY 850,002 * 10CH 8,500 0 8,500
O DXN B2 DHTAED| BH(HAED)
Z& 19,000,000& 19,000 20,000 A 1,000
KA M Ha 168,748 161,788 6,960
SEHQ MYH FHe 168,748 161,788 6,960
201 YLEr23H| 62,000 62,740 AT740
01 AR Z2lHI 51,920 52,660 ATHO
O ursgy) 51,920 52,660 ATHO
o MY 2BAHARES T3l 242 [04E
Z] Z& 2,000,000& 2,000 4,000 22,000
o X et EIAZ DXSET2 8
oA E 2 28 0& 0 5,000 25,000
o MURNSX SXXY 2E T 22lbl(A
HENHHBHID) 10,0002 * 462 460 0 460
o MESIIN WH D20 02 +218/(Al
HEIHWEZHIZ) 200,000& * 504 1,000 0 1,000
o DI LAY SHINE FIst ZHTY(
ANBZTHEEEZ) 200,000& * 2004 4,000 0 4,000
o TH MYX LFHDH HE(AH=Z
WEERE)) 802 * 10,0000H 800 0 800
405 XHabF SHI 7,700 0 7,700
01 ML =SESFH = 7,700 0 7,700
O =% POA DA TYABZIHZRHE)
1,500,000& * 4CH 6,000 0 6,000
O Z4X BME SHSSTI(ULIHOIL)
PUAMEXHRSHZ) 1,700,002 * 1CH 1,700 0 1,700
58O ALY &E 71,908 63,858 8,050
£ 6,213 6,213 0
Al 65,695 57,645 8,050
Helsel S0 71,908 63,858 8,050
S 6,213 6,213 0
Al 65,695 57,645 8,050
201 Yur2| 18,972 15,122 3,850
01 AlR2e2lHI 18,972 15,122 3,850
O get=Z| 17,772 13,922 3,850
o NERBHIN(QAEI]) 42E AA(AHZ
AHEEXZ) 10,512 6,662 3,850
-2 A% 8,470,002 8,470 4,620 3,850
405 XHAHE S 10,500 6,300 4,200
01 HAHUSEFSY| 10,500 6,300 4,200
O XS2IAUIN(ABIN) A7 7Y (AETTY
3BH3) 2,100,000& * 2CH 4,200 0 4,200




SA: M2
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chel: D123l (&2 & &)

SN BB SR(S) - MBAY - BES 0l &t p[E-E" HIRE2
HE2HHHI(MR) 437,421 408,721 28,700
Jl=234| 429,930 401,230 28,700
Jl=&d| 429,930 401,230 28,700
202 O4Hl 58,400 29,700 28,700
01 =UObI 58,400 29,700 28,700

O NgH+ 2ES 9iet YRz (ABRTS

H3) 410,000& » 70 28,700 0 28,700






